Calculus|
Exam 2, Summer 2002

1. A cune C in theplaneis the graphof therelationx® — xy? + y+ x? = 2 . Find the equatim of thetangent
line to thecurwe atthe poirt (-1,2).

2. A lampis beinglowereddown a verticd poleatarateof 3 ft/sec. A 6 foot manstands20 feetaway from
thepole. At whatrateis theshadav of the manlengtheimg whenthelampis 56 feetoff thegrourd?

3. Lety = (x> — 1)(x? — 5). For whatvalueof x in theintenval [-2,2] is y amaximun® a minimunf Find the
pointsof inflectionof thegraph

4. | haveto make aclosedcylindrical canto hold 12 cu. ft. Thematerialto make thetop andbottomcosts$6
asq.ft., andthe materialto make the sidecosts$10persq. ft. Whatarethedimensios which minimize the
cost?(It wil suflice to give eithertheradiusof the baseor the height.

X(x—2)

5.y= 21 Youmustshaov enoudp work to explain how you foundthevariows featuresof the graph.




